
This page may be photocopied for use by the purchasing institution only. Missing Digit Puzzles
10 © Lesley Higgin and Brilliant Publications Limited

Subtraction Puzzle B

Use each of the digits 1 to 9 once to complete the following 
calculations:

__ __ - 3 = __

__ 0 - 4 = __ __

__ 1 - __3 = 1 __

A.

__ __ - 2 __ = 4

__ 0 - 7 __ = __ 4

500 - __ __ 3 = 4 __

B.



Answers and Hints

Subtraction Puzzle B 
A. 12-3=9,   40-4=36,   71-53=18
Start with line 1, the ‘8’ in line 3 and the ‘6’ in line 2.
B. 32-28=4,   90-76=14,   500-453=47
Start with line 2 or line 3.
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